
5B Polar Graphs 

 

 

 

 

1. Sketch the Polar equation: 

a) 𝑟 = 𝑎 

 

b) 𝜃 = 𝑎 

 

c) 𝑟 = 𝑎𝜃 

 



d) 𝑟 = 𝑎(1 + 𝑐𝑜𝑠𝜃) 

 

e) 𝑟 = 𝑎𝑠𝑒𝑐𝜃 

 

f) 𝑟 = 𝑠𝑖𝑛3𝜃 

 



g) 𝑟2 = 𝑎2𝑐𝑜𝑠2𝜃 

 

h) 𝑟 = 𝑎(5 + 2𝑐𝑜𝑠𝜃) 

 

i) 𝑟 = 𝑎(3 + 2𝑐𝑜𝑠𝜃) 

 



In General 

𝑟 = 𝑎(𝑝 + 𝑞𝑐𝑜𝑠𝜃) 

        p < q         q ≤ p < 2q 

                      

 

 

 

 

 

 

       p = q             p ≥ 2q 

                      

 

 

 



Some graphs to recognise: 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

𝒓 = 𝒄𝒐𝒔𝜽 𝒓 = 𝒄𝒐𝒔𝟐𝜽 

𝒓 = 𝒄𝒐𝒔𝟑𝜽 

𝒓 = 𝒔𝒊𝒏𝟑𝜽 

𝒓 = 𝒔𝒊𝒏𝜽 

𝒓 = 𝒔𝒊𝒏𝟐𝜽 

𝒓 = 𝒕𝒂𝒏𝜽 𝒓 = 𝒕𝒂𝒏𝟐𝜽 



 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

𝒓 = 𝒕𝒂𝒏𝟑𝜽 

𝒓 = 𝟑𝜽 

𝒓 = 𝜽 

𝒓 = 𝟐𝜽 

𝒓 = 𝒄𝒐𝒔𝜽 𝒓 = 𝟐𝒄𝒐𝒔𝜽 

𝒓 = 𝟐𝒔𝒊𝒏𝜽 𝒓 = 𝟒𝒔𝒊𝒏𝜽 

𝒓 = 𝟒𝒄𝒐𝒔𝜽 

𝒓 = 𝒔𝒊𝒏𝜽 



2.  

a) Show on an argand diagram the locus of points given by the values of 𝑧 satisfying: 

|𝑧 − 3 − 4𝑖| = 5 

 

 

 

b) Show that the locus of points can be represented by the polar curve: 

𝑟 = 6𝑐𝑜𝑠𝜃 + 8𝑠𝑖𝑛𝜃 

 

 

 

 

 

 

 

 

 

 

 

 

 


